Ex. 353  f,06 = 4-4\( o] Gy \ 1= nx 4
=1 '

=

xel-1,1)

Drstuss onv °‘[ (gh) ) LQ([‘ ) l])
S@l'-

——

_Y.(x) - /“[_—l,o]' Guess: T _\'—7(
To che k H"B we ‘Lowe fo CQ\MPwtt
S a1 o
[4u-#0, = ) 161

= IW\\[ |- nX \f\z dx

o

Y
- J (4-nx) dx
O
\/n
.1 _on [ % okx
n °

I\
- Un



1.
t (¢)
_A 1L
-2 . <
P 4—.
2n )
A ‘_-_,1(
3> lfrilll = > 0 = {r\ V|
V2n

Bk Can we  have 7 of  more h‘m(h?

’P:: The  Aowl, At 3, 5 wge

Peef: T0 p o -l
R N e

o<lid-g 1 = 1G4 -1+ -9l
Shf-fl+ -9l —o©

= “f"ﬁ'\:o = -(=% A
'RLL'. \{ we lqow(, ‘Hw L‘|> CX) Sraa | S‘) < 409 .
Chis vacs ﬂ-c\\-



Ex 35%

Disomss

Ole[o/q-
fn *) = HRQX

. Ll’ () 1,6[! )+ oo

%x=9 hwm n = 4o
} -0
N w rh(X) ﬂxe}oﬂ] -
SO‘ “ _q\..-)-l-a ‘(“xea
ERSEDR

16[0 1
o i |00 R0 e L)
o




(W)’
3 h
l&:hx ‘> _4 A
A = Lbwm N Jo (1 +)F 5 %
N ‘;io\"} ° 4'3) n

}-Po t e f“‘ Y J
A A €4
W \p-3=0 1 Lyt U
~ A
k)‘,-'!.(O o ,‘3‘5? ?711
| o0 T)?, &
!
. - -0 2 1o 4
= k'\” lH\rl “f _L d{_‘zl)azzc ‘;:3 G
|
140 0 Nk
‘P
plho g
RN
",{hnrl/—a‘\-oo ‘;>3
|
(4\ is unbded LP VP>3 = () ko{-



v ) 13 hol
(fn) IS unbded I LP v|>73 = (n

Conv (™
?
L ‘,7’3
;P:g- e Hhis  case  we ‘>rcvcd
M
Mnl\ Mn-Oll — C > 0.
_ P L .
£ 40 J

RMk t 'S 1omLL ‘l’o |>'fovc a

N >_< f—od o

= a(ﬁ'\k) C(@h) : *h‘fx) _’{(X)

9.€. x 6 X
\diﬂ\ this we Can c,on{_\utl/» H\&* (&) IS hol Corv
o O omded iff B

{}

E (#nk) ¢ (fa) - ‘\:h“(x) — 4

2.e.
\\/

O

<‘: :O e t 2.C. rocccw&c "L
ﬂ\i \"\A(“Ox\ 3r%,



4 C
i #»» 5F 2 f.— 9 Lot this s {a(t

)
/
‘\4h‘°"3 — C?>O

Q(’;‘Y_: G\‘veh *Wo horm$ on \/, “ “, ““& ) Wt

oy fhat N1l s Slrebger than WU,
T o0 gl ¢ CUEL Vie V.

e say that 0 cquvalit if

S 0o ¢ clfl <IN s CIfl, VeV

Is ?h‘ohorr than NI =

%__1‘. T Ry
1) -l -
® ¥n — =) 'Fh — F
o bark, A0 IR e eque
S} ||._ﬂ; o { I ](
n h —

E—: o u :rh n'_""" f = “(h‘{'“‘_90~



| —

0

O

I
o Mh-fl—oo. e ol

’B-:?_- |¥ dim V <o H\m all horms Mt ectuiva,\kh-‘".
Rh\\:' \{: dav V4 'n qem.ra‘ {'wo horm€ 3¢ hawver

- &‘w{vahhlﬂ

Exomple: V= ¢ (&)
40, = wax H(X)\

x€]

N, - L' (66| d

(A 11

ol | 4
Vv
141, by 14—

R

0, .

CTU\LSI: N\‘N rs Sh‘ot\ﬂer ""\cm “
L 3c i scMiL Viee®D




Co o 6
o, - [ el <] (n)dc= I,

IN
EA PN

100, <egl, 734
CZMSS - “ % pol’ {r. ﬂ\om “. (\d,

(& AC: uﬂ <chq, Vfek. )

LJ 5 w“‘*mtt 9 Oouvi'er ex%MFLL Jb\‘f \"aL‘iw&

\lﬁ“d =1 ) ||]C\‘|\m -k

2 B

/L

\lﬁ\\‘ -1

|

=1 L A M <CH
2k

-
\
~

ofherivace

ok ¢ C Ykl
l‘wposc‘. W




Ex. 152. V = 31(["0, l])

—

Qg = 4N+ g,
D 18N, = WD,
@ W e [EQ14 I,

W 1, = 1601 b el &

Q1. Whid 1 mﬂ‘ff s vom?

+) es.
'i/\) Let's che ck hru Lu& 1>N|>S °J ¢ hor;
.vencs\mg; 12, =0 & |H’“N=O
o 150 & f=C fde!

W) o vonishing: Il =0 & [f@)| + 1§\, =

1$E) =0 = f6):0
< = 1{_—'_0
I{'\.=0 = thC

¢ hOMo? A '{'ﬂ)h% \mui rigd S\-Y‘C«\‘%Lt(ov \'V‘GVO‘

i) - vansh: W0, =0 & KO Im

\/ 2
{‘fml“’ { 0= Y,
= = £0
89 ﬂsg \{’\ =0 ig(\): y,

\



L), 't 1|

9.__, t \ ‘{,‘EU l%u);v
§7° 0

f=0.

. hom A A ineg s’fvm'ﬁkt[.

QZ: -(h(") = e\'- 1) (Y\2x> . x€ EO/G

e——

Disemss oy of (fh) in N\, \ “x*x’“ ”,,m

| TR
g — = VRl 4 (I

Y \
|
W‘?’“Fnb‘\‘ ‘;‘\m'}s( ‘Si'hca_\
XGtO,l] iaf[
{»‘ -4 (m(nzx). W= h(m(*nzx)
» n
“@:\“w = = “ﬁ“ = o tn —5 {0

= (ft\) is MhLJ:.A th " ||
= ("() C\ocs‘ wol (owv th I\ |\

“4““&%* -0+ n — 4
LR et ow i



l
i = M) [;/M{’@\dx
|4 singd)| M' (\wa(#x)\ d
\g,\ -3=n’x
C\? “3_ dx::“-\td\a’
_o, 4w ) eyl 5 0y
oR “’l
= b“ ¢ % Sa l(ﬂ)\a\ dla,
hL\-flo/ wwbded ‘-w‘)
| eyl dy o leyldy =
ANV
Olangley \l Y
° B |corn | 2n +
v ] 1 ’%(i%@“&)=%ﬁ\
l\m‘C
= Il £ "m ko ded =) 1(; 7Lm*

Q?}j \(el‘ar\‘ohs 3hn0\n%, horms



e, s I,

|£60) {6 mx | £
X
TSR Y
6 - f@ + | flhe

S ol o+ 140t
s 11 d g e x
) n

T
5 ) $1£O) t €N, - >
o i, = wex [$0] < KO+ 10

x€o,1)
5 M < O+ 208 s 2(|€/o)|+||r’\|“)
<2 I,
Diswnss “ “*l [ “m&: and I ")mx ) ““%x—u
i . g
ﬂx l huvc a2 hvadendic ond 1(0’ 3 °1F )e”.:" 1["\ .

e

a v (2 i mnverr,wmf =

() s 2 Couchy seq



M |£ (f“) 15 err%"‘t = ((n) & 2 Caict\\i 5((1
tko (S:

Veso AN ¢ Ide-full <€ VimaN
Peoo: I} 5 e = 16 -f1—0
Yoo AN M-fllse Yepn

\{ n,m> N ,
TR (R (]
¢ Ma-Cls DE=fall s 28 @



